FE1EEEFYLUOHYT (INEEDER)

ARroa—)L RNUF(E) = RUF(H) BE [Ty
10/31] @O 830 ~ 9:30 {BEEWB LZFEKRE| vs #HESTYY |BrxExz| EH
(1) gk
@ 950 ~ 1050 || EH1=FwWB ‘#%E&E‘ vs‘ HAHF—X ‘%%EEE DDEE
&5k
@ 1110 ~ 12:10 BESA1=T \ﬂgz@\ vs\ FEEIHC ‘%%EZ{E ONKE
£
@ 12330 ~ 13:30 o Ry ‘ﬁ%EZﬁE‘ vs‘ DD PsE ‘%%EZ‘EE D E
£
® 1350 ~ 14:50 QOE  |x7Exz| vs | QOBE |zrExs| QOME
£
® 1510 ~ 16:10 OnE  [x78xZ vs | QOKE [s7Exz| OOKE
£
@ 1630 ~ 17:30 @olE  |x3ExE vs | OOKRE [37ExE| @OKE
£
17:50 ~  18:50 ENBE  (x7ExE vs | QOKE [s7ExE| QOKE
£
@ 1910 ~ 20:10 DD iE (x7Exz| vs | OOKE |2rExz| QOKE
2N
[F—FAVPZE]
®
19:10 @
@ ® 16:30
12:30 13:50
O) @ ®
8:30 9:50 11:10
1 2 3 4 5 6 7
w18 " = hoo@ i
el E OB 4 K =
o g5 P U A
a rJ I hu [ a 1
- 4 % ol X = i
7 ~ T 7 D 4 ,)
~ Y w a .
T v B = |
I\s 7 5
A 2
7
®
15:10

17:50




